Potencias de 10

(B)

1.3087 <100

6.4068 =100

8.5565 =100

5.2151 =100

3.951+100

2.77237+100

7.9446 =100

4.4764 =100

5.4277-+100

8.2255 100

Calcule los siguientes cocientes.

5.0819+100

8.3439 + 100

9.6844 =100

7.7338 - 100

7.77327 100

2.9198 - 100

2.388+100

1.71 =100

8.2581 =100

7.8158 +100
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Potencias de 10 (B) Respuestas

1.3087 <100
0.013087
6.4068 =100
0.064068
8.5565 =100
0.085565
5.2151+100
0.052151
3.951 =100
0.03951
2.77237+100
0.027237
7.9446 100
0.079446
4.4764 =100
0.044764
5.4277-+100
0.054277
8.2255-+100
0.082255

Calcule los siguientes cocientes.

5.0819-+-100
0.050819
8.3439 - 100
0.083439
9.6844 =100
0.096844
7.7338 - 100
0.077338
7.7327 =100
0.077327
2.9198 - 100
0.029198
2.388 +100
0.02388
1.71 =100
0.0171
8.2581+100
0.082581
7.8158 +100
0.078158
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